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(a) Companies such as Nanjing Auto have to decide how to allocate their productive ”

capacity between basic saloon cars and higher performance vehicles (lines 12 to 13).

(i) Explain what is meant by opportunity cost.

(ii) Draw a production possibility curve to show the choices a company such as Nanjing
Auto might face when deciding which type of vehicle to produce.

[4]

(iii) Explain how opportunity cost can be used to show the effects of Nanjing Auto
increasing the production of higher performance vehicles.
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(b) (i) Using the information provided, explain two possible determinants of the increased
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(ii)

demand for private cars in China.

Using the information provided, and with the aid of a diagram, analyse how the
changes in demand and supply might affect the market equilibrium for private cars
in China.
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(c) A recent report contained the following estimates for income elasticity of demand in

China:

Private car purchases + 1.8
Domestic air travel + 3.0

(i) Define income elasticity of demand.

(ii) Explain what each of the above estimates means.

(iili) Comment on their business significance for private car manufacturers and for
domestic airlines in China.
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(d) (i) State and explain two characteristics of an oligopoly. v
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If you use the following lined page or additional sheets to complete an answer to any question, ”

the question number must be clearly shown.
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